
302.1A.

Ua = 24 ej0
◦
V

Ub = 18 e−j120◦ V

Uc = 18 ej120
◦
V

U0 = ? [V]
U1 = ? [V]
U2 = ? [V]

a = ej120
◦

T−1 =
1

3

 1 1 1
1 a a2

1 a2 a


 U0

U1

U2

 = T−1

 Ua

Ub

Uc

 =
1

3

 1 1 1
1 a a2

1 a2 a

 24
18a2

18a

 =
1

3

 24 + 18a2 + 18a
24 + 18 + 18

24 + 18a + 18a2

 =

 2
20
2

V

302.2A.

Ia = 18 ej0
◦
A

Ib = 15 e−j120◦ A

Ic = 15 ej120
◦
A

I0 = ? [A]
I1 = ? [A]
I2 = ? [A]

a = ej120
◦

T−1 =
1

3

 1 1 1
1 a a2

1 a2 a


 I0

I1
I2

 = T−1

 Ia
Ib
Ic

 =
1

3

 1 1 1
1 a a2

1 a2 a

 18
15a2

15a

 =
1

3

 18 + 15a2 + 15a
18 + 15 + 15

18 + 15a + 15a2

 =

 1
16
1

A

1



302.3A.

U0 = 2 V
U1 = 15 V
U2 = 2 V

Ua = ? [V]
Ub = ? [V]
Uc = ? [V]

a = ej120
◦

T =

 1 1 1
1 a2 a
1 a a2


 Ua

Ub

Uc

 = T

 U0

U1

U2

 =

 1 1 1
1 a2 a
1 a a2

 2
15
2

 =

 2 + 15 + 2
2 + 15a2 + 2a
2 + 15a + 2a2

 ≈
 19
−6,5− j11,26
−6,5 + j11,26

V

302.4A.

I0 = 3 A
I1 = 18 A
I2 = 3 A

Ia = ? [A]
Ib = ? [A]
Ic = ? [A]

a = ej120
◦

T =

 1 1 1
1 a2 a
1 a a2


 Ia

Ib
Ic

 = T

 I0
I1
I2

 =

 1 1 1
1 a2 a
1 a a2

 3
18
3

 =

 3 + 18 + 3
3 + 18a2 + 3a
3 + 18a + 3a2

 ≈
 24
−7,5− j12,99
−7,5 + j12,99

A

2



209.1A.

uh
1 = 1

xtr
1 = xtr

2 = xtr
0 = 0,12

xv
1 = xv

2 = 0,4
xv
0 = 0,6

ia = ?

ua = 0
ib = 0
ic = 0

⇒ u0 + u1 + u2 = 0
i0 = i1 = i2

∧
trafó

zérus sorrend¶

modellje

⇒ i0 = 0

 ia
ib
ic

 = T

 i0
i1
i2

 =

 1 1 1
1 a2 a
1 a a2

 i0
i0
i0

 =

 i0 + i0 + i0
i0 + a2 i0 + a i0
i0 + a i0 + a2 i0

 =

 3i0
0
0


ia = 3i0 = 0

209.2A.

uh
1 = 1

xtr
1 = xtr

2 = xtr
0 = 0,12

xv
1 = xv

2 = 0,4
xv
0 = 0,6

ia = ?

ub = uc

ia = 0
ib = −ic

⇒
u1 = u2

i0 = 0
i1 = −i2

⇒ i1 =
uh
1

j xtr
1 + j xtr

2 ia
ib
ic

 = T

 i0
i1
i2

 =

 1 1 1
1 a2 a
1 a a2

 0
i1
−i1

 =

 i1 − i1
a2 i1 − a i1
a i1 − a2 i1

 =

 0

−j
√

3 i1
j
√

3 i1


ib = −j

√
3 i1 = −j

√
3

uh
1

j xtr
1 + j xtr

2

= −j
√

3
1

j0,12 + j0,12
≈ −7,22

209.3A.

uh
1 = 1

xtr
1 = xtr

2 = xtr
0 = 0,12

xv
1 = xv

2 = 0,4
xv
0 = 0,6

ia = ?

ub = 0
uc = 0
ia = 0

⇒ u0 = u1 = u2

i0 + i1 + i2 = 0
∧

trafó

zérus sorrend¶

modellje

⇒
i0 = 0 ⇒ i1 = −i2

i1 =
uh
1

j xtr
1 + j xtr

2 ia
ib
ic

 = T

 i0
i1
i2

 =

 1 1 1
1 a2 a
1 a a2

 0
i1
−i1

 =

 i1 − i1
a2 i1 − a i1
a i1 − a2 i1

 =

 0

−j
√

3 i1
j
√

3 i1


ib = −j

√
3 i1 = −j

√
3

uh
1

j xtr
1 + j xtr

2

= −j
√

3
1

j0,12 + j0,12
≈ −7,22
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209.4A.

uh
1 = 1

xtr
1 = xtr

2 = xtr
0 = 0,12

xv
1 = xv

2 = 0,4
xv
0 = 0,6

ia = ?

ua = 0
ib = 0
ic = 0

⇒ u0 + u1 + u2 = 0
i0 = i1 = i2

∧
trafó

zérus sorrend¶

modellje

⇒ i0 =
uh
1

j xtr
1 + j xtr

2 + j xtr
0 ia

ib
ic

 = T

 i0
i1
i2

 =

 1 1 1
1 a2 a
1 a a2

 i0
i0
i0

 =

 i0 + i0 + i0
i0 + a2 i0 + a i0
i0 + a i0 + a2 i0

 =

 3i0
0
0


ia = 3i0 = 3

uh
1

j xtr
1 + j xtr

2 + j xtr
0

= 3
1

j0,12 + j0,12 + j0,12
≈ −j8,33

209.5A.

uh
1 = 1

xtr
1 = xtr

2 = xtr
0 = 0,12

xv
1 = xv

2 = 0,4
xv
0 = 0,6

ia = ?

ub = uc

ia = 0
ib = −ic

⇒
u1 = u2

i0 = 0
i1 = −i2

⇒ i1 =
uh
1

j xtr
1 + j xtr

2 ia
ib
ic

 = T

 i0
i1
i2

 =

 1 1 1
1 a2 a
1 a a2

 0
i1
−i1

 =

 i1 − i1
a2 i1 − a i1
a i1 − a2 i1

 =

 0

−j
√

3 i1
j
√

3 i1


ib = −j

√
3 i1 = −j

√
3

uh
1

j xtr
1 + j xtr

2

= −j
√

3
1

j0,12 + j0,12
≈ −7,22
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304.1A.

Zön = (2 + j4) Ω
Zk = (0,1 + j2) Ω

Zss = ? [Ω]

Zss = T−1 Zff T =
1

3

 1 1 1
1 a a2

1 a2 a

  Zön Zk Zk

Zk Zön Zk

Zk Zk Zön

  1 1 1
1 a2 a
1 a a2

 =

 Zön + 2Zk 0 0
0 Zön − Zk 0
0 0 Zön − Zk


Z0 = Zön + 2Zk = (2 + j4 + 2 (0,1 + j2)) Ω = (2,2 + j8) Ω

Z1 = Z2 = Zön − Zk = (2 + j4− (0,1 + j2)) Ω = (1,9 + j2) Ω

304.2A.

Z0 = (2,2 + j8) Ω
Z1 = (1,9 + j2) Ω

Zff = ? [Ω]

Zff = T Zss T
−1 =

 1 1 1
1 a2 a
1 a a2

  Z0 0 0
0 Z1 0
0 0 Z1

 1

3

 1 1 1
1 a a2

1 a2 a

 =
1

3

 Z0 + 2Z1 Z0 − Z1 Z0 − Z1

Z0 − Z1 Z0 + 2Z1 Z0 − Z1

Z0 − Z1 Z0 − Z1 Z0 + 2Z1


Zön =

Z0 + 2Z1

3
=

2,2 + j8 + 2 (1,9 + j2)

3
Ω = (2 + j4) Ω

Zk =
Z0 − Z1

3
=

2,2 + j8− (1,9 + j2)

3
Ω = (0,1 + j2) Ω
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305.1A.

Zön = (2 + j4) Ω
Zk = (0,1 + j2) Ω

Zss = ? [Ω]

Zss = T−1 Zff T =
1

3

 1 1 1
1 a a2

1 a2 a

  Zön Zk Zk

Zk Zön Zk

Zk Zk Zön

  1 1 1
1 a2 a
1 a a2

 =

 Zön + 2Zk 0 0
0 Zön − Zk 0
0 0 Zön − Zk


Z1 = Zön − Zk = (2 + j4− (0,1 + j2)) Ω = (1,9 + j2) Ω

305.2A.

Zön = (2 + j4) Ω
Zk = (0,1 + j2) Ω

Zss = ? [Ω]

Zss = T−1 Zff T =
1

3

 1 1 1
1 a a2

1 a2 a

  Zön Zk Zk

Zk Zön Zk

Zk Zk Zön

  1 1 1
1 a2 a
1 a a2

 =

 Zön + 2Zk 0 0
0 Zön − Zk 0
0 0 Zön − Zk


Z0 = Zön + 2Zk = (2 + j4 + 2 (0,1 + j2)) Ω = (2,2 + j8) Ω

305.3A.

Zön = (2 + j4) Ω
Zk = (0,1 + j2) Ω

Zss = ? [Ω]

Zss = T−1 Zff T =
1

3

 1 1 1
1 a a2

1 a2 a

  Zön Zk Zk

Zk Zön Zk

Zk Zk Zön

  1 1 1
1 a2 a
1 a a2

 =

 Zön + 2Zk 0 0
0 Zön − Zk 0
0 0 Zön − Zk


Z2 = Zön − Zk = (2 + j4− (0,1 + j2)) Ω = (1,9 + j2) Ω
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390.1A.

Sn = 100 MVA

ε = 10 %
UN
n /UK

n = 120 / 10 kV
Ualap
n = 120 kV

Salap
3f = 100 MVA

xtr
0 = ?

xtr
0 = xtr

1 =
Z1

Zalap
1

=

ε

100
·
(
UN
n

)2
Sn(

Ualap
n

)2
Salap
3f

=

10

100
· 1202

100
1202

100

= 0,1

390.2A.

Sn = 100 MVA

ε = 10 %
UN
n /UK

n = 400 / 220 kV
Ualap
n = 400 kV

Salap
3f = 100 MVA

xtr
0 = ?

xtr
0 = xtr

1 =
Z1

Zalap
1

=

ε

100
·
(
UN
n

)2
Sn(

Ualap
n

)2
Salap
3f

=

10

100
· 4002

100
4002

100

= 0,1

390.3A.

Sn = 100 MVA

ε = 10 %
UN
n /UK

n = 120 / 20 kV
Ualap
n = 120 kV

Salap
3f = 100 MVA

xtr
0 = ?

xtr
0 = xtr

1 =
Z1

Zalap
1

=

ε

100
·
(
UN
n

)2
Sn(

Ualap
n

)2
Salap
3f

=

10

100
· 1202

100
1202

100

= 0,1
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390.4A.

Sn = 100 MVA

ε = 10 %
UN
n /UK

n = 15 / 120 kV
Ualap
n = 15 kV

Salap
3f = 100 MVA

xtr
0 = ?

xtr
0 = xtr

1 =
Z1

Zalap
1

=

ε

100
·
(
UN
n

)2
Sn(

Ualap
n

)2
Salap
3f

=

10

100
· 152

100
152

100

= 0,1

390.5A.

Ztr
1 = ZTR

Ztr
0 = ?

Ztr
0 = ZTR + 3R

390.6A.

Ztr
1 = ZTR

Ztr
0 = ?

Ztr
0 = ZTR + 3jXP
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